

अखिल भारतीय आयुर्विज्ञान संस्थान, रायपुर (छत्तीसगढ़)

All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG)

Phone No. 0771-2572930, e-mail: se@aiimsraipur.edu.in

NIQ No: 17/EE/AIIMS/RPR/2019-20

Date: 06/11/2019

INVITING SPOT QUOTATION

Spot sealed quotation is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from the interested civil contractors having GST No. and contractors registration certificate should be submitted to office of Project Cell, Hospital Administrative Block, Gate No-1, AIIMS Raipur up to **12:00 Noon** on **8th November 2019**. The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned. The quotations will be opened on the same day at **12:30 PM**. As per detailed below:-

SCHEDULE OF QUANTITY

Name of Work: Aluminium Partition in General Medicine HDU Ward in C1 Block, 2nd Floor & B Block OT Corridor at AIIMS Raipur..

Sl No	Description of items	Unit	Quantity	Rate	Amount		
1	AS PER ATTACHED SHEET						

Conditions:

- 1. Percentage rates should be quoted inclusive of all taxes (Nothing to be paid extra on this account).
- 2. Work has to be done as per CPWD specification and direction of Engineer In-charge.
- 3. Damage if any done/happened by the Contractor has to make it good as original.
- 4. Security Deposit @2.5% shall be deducted & released after Defect Liability Period of 6 Months.
- 5. Work should be completed within 10 Days from the date of issue of work order.
- 6. The work may be executed day and night with the permission of competent authority to achieve the target date of completion and no any relaxation will be given anyhow.
- 7. Labour Law to be obeyed by the Agency.
- 8. Approved material will only be accepted.
- 9. The site is available for immediate execution of work.
- 10. If the work will not be completed in time, 2% of work value will be forfeited.

Executive Engineer (C)AIIMS Raipur (Chhattisgarh)

Schedule of Quantity

Name of Work: Aluminium Partition in General Medicine HDU W ard in C1 Block ,2nd Floor & B Block O.T Corridor at AIIMS Raipur.

Sub Head- Aluminium glazing and partition work (CIVIL)

I.No.	Particulars	Unit	Quantity	Rate	Amour
	SUB HEAD I : Aluminium work				
1.1	Providing and fixing aluminium work for doors,				
4.2	windows, ventilators and partitions with extruded		1		
	built up standard tubular sections/ appropriate Z		1 1		
	sections and other sections of approved make			1	
	conforming to IS: 733 and IS: 1285, fixing with				
	dash fasteners of required dia and size, including				
j	necessary filling up the gaps at junctions, i.e. at		1	1	
	top, bottom and sides with required EPDM			i	
	rubber/ neoprene gasket etc. Aluminium sections				
	shall be smooth, rust free, straight, mitred and		1 1		
	jointed mechanically wherever required including				
	cleat angle, Aluminium snap beading for glazing /				
	paneling, C.P. brass / stainless steel screws, all				
	complete as per architectural drawings and the				
	directions of Engineer-in-charge. (Glazing,				
	paneling and dash fasteners to be paid for		i i		
	separately) : For fixed portion : Powder coated				
	aluminium (minimum thickness of powder coating				
	50 micron):				
1.1.1	For fixed portion				
	Powder coated aluminium (minimum thickness of	V.C	369.01	456.3	122202.06
	powder coating 50 micron	KG	268.01	456.3	122292.96
1.2.1	For shutters of doors, windows & ventilators				
	including providing and fixing hinges/ pivots and				
	making provision for fixing of fittings wherever				
	required including the cost of EPDM rubber /				
	neoprene gasket required (Fittings shall be paid				
	for separately)				2.
	Powder coated aluminium (minimum thickness of				
	powder coating 50 micron	Kg	71.18	546.35	38889.19
	powder counting so micron				
1.2	Providing and fixing 12 mm thick prelaminated				
	particle board flat pressed three layer or graded				
	wood particle board conforming to IS: 12823				164
	Grade I Type II, in panelling fixed in aluminum				
	doors, windows shutters and partition frames				
	with C.P. brass / stainless steel screws etc.				
	complete as per architectural drawings and				
	directions of Engineer-in-charge : Pre-laminated				
	particle board with decorative lamination on both				
	sides :				
1.2.1	Pre-laminated particle board with decorative			4015.5	F00= 45
		Sqm	4.80	1046.9	5025.12

	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of Engineer-in-charge. (Cost of						
i	aluminium snap beading shall be paid in basic item):						
1.3.1	With float glass panes of 5 mm thickness	Sqm	25.72	1296.4	33343.41		
	Providing and fixing double action hydraulic floor spring of approved brand and manufacture conforming to IS: 6315, having brand logo embossed on the body / plate with double spring mechanism and door weight upto 125 kg, for doors, including cost of cutting floors, embedding in floors as required and making good the same matching to the existing floor finishing and cover plates with brass pivot and single piece M.S. sheet outer box with slide plate etc. complete as per the direction of Engineer-in-charge.						
1.4.1	With stainless steel cover plate minimum 1.25	Each	6.00	2412.5	14475.00		
1,5	mm thickness Filling the gap in between aluminium frame & adjacent RCC/ Brick/ Stone work by providing weather silicon sealant over backer rod of approved quality as per architectural drawings and direction of Engineer-in-charge complete.	233.1	3.55				
1.5.1	Upto 5mm depth and 5 mm width	Metre	39.90	79.45	3170.06		
	Providing and fixing aluminium tubular handle bar 32 mm outer dia, 3.0 mm thick & 2100 mm long with SS screws etc.complete as per direction of Engineer-in-Charge.						
1.6.1	Anodized (AC 15) aluminium tubular handle bar	Each	12.00	512.3	6147.60		
1.7	Providing and fixing 100mm brass locks (best make of approved quality) for aluminium doors including necessary cutting and making good etc. complete.	Each	3.00	458.55	1375.65		
	TOTAL				224719.00		
Percentage	In Figure						
Rate Quoted by the Agency	In Words						
Name of Agency:							
Address Details:					108		
Contact no:							
	•)						

